
 

 

Answer on Question #66202 – Math – Calculus 

Question 

Show that lim
𝑥→∞

(
2

𝑥−3
) = 0 

 

Solution 

Dividing the numerator and denominator in   

lim
𝑥→∞

(
2

𝑥 − 3
) 

     by 𝑥 we obtain  

lim
𝑥→∞

(
2

1
𝑥

1 −
3
𝑥

) 

Introducing a new variable 

𝑢 =
1

𝑥
, so 𝑢 → 0 as 𝑥 → ∞, 

evaluate 

lim
𝑥→∞

(
2

1
𝑥

1 −
3
𝑥

)  = lim
𝑢→0

(
2𝑢

−3𝑢 + 1
) =

lim
𝑢→0

2𝑢

lim
𝑢→0

(−3𝑢 + 1)
=

2 lim
𝑢→0

𝑢

−3 lim
𝑢→0

𝑢 + 1
=

2 ∙ 0

−3 ∙ 0 + 1
=

0

−0 + 1

= 0 

We get 

lim
𝑥→∞

(
2

𝑥 − 3
) = 0 

Answer: 0. 
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